
  

 
 

TNPSC GROUP I, II & IIA PRELIM 

CLEAR, TRANSPARENT, INDIVIDUALIZE ORIENTATION 

MENTAL ABILITY – COURSE CONTENT 
 

GROUP II / IIA = 25 QUESTIONS 

 
UNIT-X: APTITUDE AND MENTAL ABILITY 

i. Simplification – Percentage - Highest Common Factor (HCF) - 
Lowest Common Multiple (LCM).  
 

ii. Ratio and Proportion. 
 

iii. Simple interest - Compound interest - Area - Volume – Time and 
Work. 

 
iv. Logical Reasoning - Puzzles - Dice - Visual Reasoning – Alpha 

numeric Reasoning – Number Series. 
 
myF X – jpwdwpTk; kdf;fzf;F Ez;zwpTk;  

i. RUf;Fjy; kPg;ngW nghJf; fhuzp (HCF) – tpOf;fhL – kPr;rpW 
nghJ klq;F (LCM) 
 

ii. tpfpjk; kw;Wk; tpfpjhrhuk; 
 

iii. jdptl;b> $l;Ltl;b – gug;G – nfhs;ssT – fhyk; kw;Wk; Ntiy 
 

iv. jUf;ff; fhuztpay; - Gjph;fs; - gfil – fhl;rpf; fhuztpay; - 
vz; vOj;Jf; fhuztpay; - vz; thpir 
 
 

  



  

 
 

TNPSC ORIGINAL QUESTION  
SIMPLE INTEREST   

 
1. Mala invested Rs. 5,000 for two years at 11% per annum. Find the total 

amount received by her at the end of 2 years. 
a. Rs. 5,100  b. Rs. 6,200  c. Rs. 6,100  d. Rs. 5,200  
khyh Mz;bw;F 11% tl;b tPjj;jpy; & 5>000 I ,uz;L Mz;LfSf;F 
KjyPL nra;fpd;whh;. ,uz;lhk; Mz;bd; Kbtpy; mth; ngWk; nkhj;jj; 
njhifiaf; fhz;f.  
a. & 5>1000  b. &. 6>200  c. &. 6>1000 d. & 5>200 

Assistant Public Prosecutor -2019 
 

2. A certain sum of money amounts to Rs. 6,372 in 3 years at 6% on simple 
interest. Find the principal.  
A. Rs. 5,000  B. Rs. 4,500  C. Rs. 5,400 D. Rs. 4,000 
xU Fwpg;gpl;l njhifahdJ 6% jdptl;b tPjj;jpy; 3 Mz;Lfspy; & 
6,372 MfpwJ vdpy; mriyf; fhz;f.  
A. &. 5,000  B. &. 4,500 C. &. 5,400 D. &. 4,000 

District Educational Officer – 2019  
 

3. Vaideesh deposits ì 500 at the beginning of every month for 5 years in a 
post office. If the rate of interest is 7.5%. Find the amount he will receive 
at the end of 5 years.  
A. ì 35718.75  B. ì 37518.75 C. ì 37581.75 D. ì 35817.75 
itjP]; vd;gth; ì 500 I xt;nthU khjj; njhlf;fj;jpYk; Xh; 
mQ;ryfj;jpy; 5 Mz;LfSf;Fr; nrYj;Jfpwhh;. tl;b tPjk; 7.5% vdpy; 5 
Mz;Lfs; Kbtpy; mth; ngWk; njhif vt;tsT?  
A. ì 35718.75  B. ì 37518.75 C. ì 37581.75 D. ì 35817.75 
       District Educational Officer - 2019 

 

4. A sum of money quadruples itself in 24 years under simple interest 
scheme then rate of interest is 
a. 12.3%  b. 12.5%  c. 10%  d. 22% 
xU njhif 24 Mz;Lfspy; jdptl;b tPjj;jpy; ehd;F klq;fhfpwJ 
vdpy; tl;b tPjk; vt;tsT? 
a. 12.3%  b. 12.5%  c. 10%  d. 22% 

Assistant Agriculture officer - 2019 

 

5. The simple interest on a sum of money is 
9

16
 of the principal. Find the 

rate percent and time if both are numerically equal. 



  

a. 8 
1

2
 %, 8 

1

2
 yrs     b. 7% , 7yrs   

c. 7 
1

2
 %, 7 

1

2
 yrs     d. 8% 8 yrs 

 xU Fwpg;gpl;l njhifapd; jdptl;bahdJ mrypd; 
9

16  
klq;Ff;F  rkk;> 

 tl;btPjKk;> tUlKk; vz; kjpg;gpy; rkkhf ,Uf;Fk;NghJ  tl;b  
 tPjj;ijAk; tUlj;ijAk; fhz;. 

a. 8 
1

2
 %, 8 

1

2
 tUlq;fs;   b. 7% , 7 tUlq;fs;   

c. 7 
1

2
 %, 7 

1

2
 tUlq;fs;   d. 8% 8 tUlq;fs;  

Cooperative  Societies – 2019  
 

6. A certain sum of money amounts to Rs. 8,880 in 6 yrs and Rs. 7,920 in 
4 years respectively. Find the principal 
a. Rs. 12,000  b. Rs. 6,880  c. Rs. 6,000  d. Rs. 5,780 
xU Fwpg;gpl;l mryhdJ 6 Mz;Lfspy; ì 8,880 MfTk; 4 Mz;Lfspy; 
ì 7,920 MfTk; khWfpwJ vdpy; mriyf; fhz;f.  
a. Rs. 12,000  b. Rs. 6,880  c. Rs. 6,000  d. Rs. 5,780 

Cooperative  Societies - 2019 
 

7. At what rate of interest a sum of money doubles itself in 10 years in 
simple interest? 

xU njhifahdJ jdptl;b Kiwapy; 10 tUlj;jpy; ,ul;bg;ghf Mf 
tl;b tPjk; vd;dthf ,Uf;f Ntz;Lk;? 
A. 10%  B. 20%  C. 50%  d. 25% 
           CCSE – IV EXAM  

 
8. Ashok deposited Rs. 10, 000 in a bank at the rate of 8% per annum. Find 

the simple interest for 5 years. 
a. 2,000  b. 40,000  c. 4,000  d. 5,000 
mNrhf; 10>000 &ghia Mz;Lf;F 8% vd;w tl;b tPjj;jpy; xU tq;fpapy; 
KjyPL nra;Js;sshh;. 5 Mz;Lfspy; fpilf;Fk; jdp tl;biaf; fhz;f. 
a. 2,000  b. 40,000  c. 4,000  d. 5,000 

Draughts Man Grade III 

 

9. Two equal sums of money were lent at simple interest at 11 % p.a, for 3 
½ years  and 4 ½ years respectively. If the difference in interests for two 
periods was  Rs. 412.50, then each  sum is  
a. ` 3,250  b. ` 3,500  c.` 3,750  d. `4,250 
xU njhif Mz;bw;F 11% jdptl;b tpfpjj;jpy; 3 ½  Mz;LfSf;F 
nfhLf;fg;gl;lJ.  mNj msT njhif mNj jdptl;b tpfpjj;jpy; 4 ½ 
Mz;LfSf;Fk; nfhLf;fg;gl;lJ.  jdptl;bfspd; tpj;jpahrk; &. 
412.50vdpy; nfhLf;fg;gl;l njhif vd;gJ & 
a. &.3,250  b. &.3,500  c. &.3,750  d. &.4,250 



  

Drugs Inspector in Medical Service 
 

10. What will be the amount a man would get, if he invests `10,000 at 9% 
per annum  simple interest for 3 years? 
a. 12,500  b. 11,800  c. 12,700  d. 12,000 
xUth; ` 10>000 I Mz;bw;F 9 jdptl;b tPjj;jpy; %d;W Mz;LfSf;F 
KjyPL nra;jhy; mtUf;F fpilf;Fk; nkhj;j njhif vt;tsT?  
a. 12,500  b. 11,800  c. 12,700  d. 12,000 

Drugs Inspector in Medical Service - 2019 
 

11. Find the simple interest on Rs. 7,500 at 8% per annum per 1 year 6 
months. 
a. rs. 600  b. rs. 700  c. rs. 800  d. rs. 900 
₹ 7,500 f;F 8% tl;b tPjk; xU tUlk; 6 khjq;fSf;fhd jdp 
tl;biaf; fhz;f         
a. ₹  600  b. ₹ 700  c. ₹ 800  d. ₹ 900 

               CCSE – IV EXAM 2019 
 

12. A certain sum of money in simple interest scheme amounts to Rs.8,880 
in 6 years and Rs.7,920 in 4 years respectively. Find the principal and 
rate percent 
a. Principal = 6,000, rate = 8%  b. Principal = 6,600, rate = 8% 
c. Principal = 6,000, rate = 7%  d. Principal = 6,600, rate = 7% 
xU Fwpg;gpl;l mryhdJ jdp tl;b tPjj;jpy; 6 Mz;Lfspy; 8,880 
MfTk; 4 Mz;Lfspy; 7,920 MfTk; khWfpwJ vdpy; mry; kw;Wk; tl;b 
tPjj;ijf; fhz;f.  
a. mry; = 6,000 tl;b tPjk; = 8% b. mry; = 6,000 tl;b tPjk; = 8% 
c. mry; = 6,000 tl;b tPjk; = 7% d. mry; = 6,000 tl;b tPjk; = 7% 

Group I Preliminary – 2019 
 

13. The Simple interest on a certain sum for 3 years at 14% per annum is Rs. 
235.20. The sum is 
a. Rs. 480  b. 560  c. 650   d. 720  
xU njhifapd; jdp tl;b 3 Mz;LfSf;F &.235.20 NkYk; tl;b tPjk; 
14% vdpy; mj;njhifapd; kjpg;G vd;Gj 
a. &. 480  b. &. 560  c. &. 650  d. &. 720 

Hostel Superintendent 
 

14. Vinay borrowed Rs. 50,000 from a bank for a period of 2 years at the 
rate of 4% per annum. Find simple interest 
a. Rs. 1,000  b. Rs. 3,000  c. Rs. 2,000  d. Rs. 4,000 
tpda; xU tq;fpapy; &.50>000 Mz;L tl;b ,y; ,uz;L Mz;LfSf;Ff; 
fldhf  ngw;whh; jdptl;b fhz;f. 
a. &.1,000  b. &.3,000  c. &.2,000  d. &.4,000 
          Jailor - 2019 



  

15. The simple interest  on Rs.68,000 at 
2

16
3

% per annum for 9 months 

a. Rs.1, 200  b. Rs. 8,050  c. Rs. 8,500  d. Rs. 1,020 

Mz;Lf;F 
2

16
3

% tPjk; 68>000f;F 9 khjj;jpw;fhd jdp tl;bahdJ  

a. Rs.1, 200  b. Rs. 8,050  c. Rs. 8,500  d. Rs. 1,020 
Laboratory Assistant in Department of Fisheries - 2019 

 
16. If a sum of amount double in 9 years then the rate of interest per annum 

is  

a. 9
 

 

1

9
%      b. 10

1

9
%  c. 11

 

 

1

9
%  d. 12 

 

 

1

9
% 

xU njhif 9 tUlq;fspy; ,ul;bg;ghfpd;wJ vdpy;> tl;b tpfpjkhdJ 

a. 9
1

9
%       b. 10 

1

9
%  c. 11

1

9
%  d. 12 

 

 

1

9
% 

Laboratory Assistant in Department of Fisheries - 2019 

 

17. Find the principal on amount ì 11,800 at 6% per annum for 3 years being 
simple interest annually. 
a. ì 8,000  b. ì 9,000 c. ì 10,000 d. ì 9,500  e. Answer not known 
%d;whz;Lfspy; 6% jdptl;b tPjk; nkhj;j njhif ì11,800 mspf;Fk; 
mriyf; fhz;f.  
a. ì 8,000  b. ì 9,000 c. ì 10,000 d. ì 9,500  e. tpil njhpatpy;iy  

     TNPSC GROUP I PRELIMINARY EXAM 03.01.2021 

 
18. A sum of ì 48,000 was lentout at simple interest and at the end of 2 years 

and 3 months the total amount was ì 55,560. Find the rate of interest per 
year. 
a. 7%  b. 8%  c. 9%  d. 10%  e. Answer not known 
fldhf toq;fg;gl;l mry; ì 48>000 f;F 2 Mz;Lfs; 3 khjf; 
fhyj;jpw;Fg; gpd; jdptl;b %yk; ngwg;gl;l nkhj;jf; njhif ì 55>560 
Mf ,Ue;jJ vdpy; tl;b tPjj;ijf; fhz;f.  
a. 7%  b. 8% c. 9%  d. 10%  e. tpil njhpatpy;iy  

     TNPSC GROUP I PRELIMINARY EXAM 03.01.2021 

 
19. A sum of `46,000 was lent out at Simple Interest and the end of 1year 

and 9 months, the total amount was `52,440. Find the rate of interest per 
year. 
a. 5% b. 6%  c. 7%  d. 8%  e. Answer not known 
mry; ì 46>000 MdJ 1 Mz;L 9 khj fhyj;jpw;Fg; gpwF jdptl;b %yk; 
nkhj;jj; njhifahf ì  52>440-Mf cah;e;jJ vdpy; tl;b tPjk; fhz;f.  
a. 5% b. 6%  c. 7%  d. 8%  e. tpil njhpatpy;iy  

     AGRICULTURE & HORTICULTURE GS (18.04.2021) 

  
 

 


